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Theorem: If two lines are parallel, then all points on one line are
equidistant from the other line.
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Theorem: If three (or more) parailel lines cut of f congruent segments on one
transversal, then they cut of f congruent segments on every transversal.
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Theorem: A line that contains the midpoint of one side of a triangle and is parallel
to another side passes through the midpoint of the third side.

Given: M is the midpoint of 4B ; MN//BC .

Prove: N is the midpoint of AC .
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Statements Reasons
1 M is the midpoint of AB :MN//BC Given
2 Draw AD parallelto MN N Post
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5 N is the midpoint of AC.

A midsegment connects any two midpoints of two sides of a triangle.

How many midsegments does a triangle have? 2,
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Triangle Midsegment Theorem:

The midsegment of a triangle is paralle! to the third side and half
as long as the third side. ke % @4;3"9
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In the diagram, DE , EF ,and DF are midsegments of aABC
8
1. Prove: AEFD is a parallelogram

Statements Reasons
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@ DE . EF ,and DF are midsegments Given
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